
名前

１ 次の(1)～(3)の計算をせよ。

(1) ３－２×（１－５）

７

(2) ２ ＋ ÷ 0.25

４

１

(3) a b ２ ÷ a b3 × (－２ b)3

２

２ 等式 x －６ y ＋ 11 ＝ ０ を y について解け。

３ ２ a x ２ ＋ ４ ax － 48 a を因数分解せよ。
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解 答

１ 次の(1)～(3)の計算をせよ。

(1) ３－２×（１－５） ＝ ３－２×（－４）
＝ ３＋８
＝ 11

７ ７ １
(2) ２ ＋ ÷ 0.25 ＝ ２ ＋ ÷

４ ４ ４

７
＝ ２ ＋ × ４

４

＝ ２＋７

＝ ９

１ ２
(3) a b ２ ÷ a b3 × (－２ b)3 ＝ a b ２ × ×（－８ b3）

２ a b3

＝ －16 b ２

２ 等式 x －６ y ＋ 11 ＝ ０ を y について解け。

x －６ y ＋ 11 ＝ ０

－６ y ＝ － x － 11

６ y ＝ x ＋ 11

x ＋ 11
y ＝

６

３ ２ a x ２ ＋ ４ ax － 48 a を因数分解せよ。

２ a x ２ ＋ ４ ax － 48 a
＝２ a（ x ２ ＋ ２ x － 24 ）
＝２ a（ x ＋６）（ x －４）
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